Formative Instructional and Assessment Tasks

	George’s Division Strategy

5.NBT.6 - Task 1

	Domain
	Number and Operations in Base Ten

	Cluster
	Perform operations with multi-digit whole numbers and with decimals to hundredths. 

	Standard(s)
	5.NBT.6  Find whole-number quotients of whole numbers with up to four-digit dividends and two-digit divisors, using strategies based on place value, the properties of operations, and/or the relationship between multiplication and division.  Illustrate and explain the calculation by using equations, rectangular arrays, and/or area models.     

	Materials
	Paper and pencil

	Task
	George is having a hard time solving division problems, and he has asked you for his help.  Here is George’s strategy: 
485 ÷ 4 = ? 

4 ÷ 4 = 1

8 ÷ 4 = 2

5 ÷ 4 = 1 remainder 1

1 + 2 + 1 = 4

484 ÷ 4 = 4 r 1

What is George doing wrong?  Explain how George can fix his strategy so that it works.  (Don’t teach him a new strategy!!! Help him fix this one!)  Why does this strategy work? 
In what contexts would this be a good strategy to use?  When would this not be a good strategy to use?  Explain your reasoning. 




	Rubric

	Level I
	Level II
	Level III

	Limited Performance 
· Student is unable to explain why George’s strategy doesn’t work and is unable to give an alternate solution strategy without assistance. 

	Not Yet Proficient 
· Student is able to explain that George’s answer is incorrect and possibly elaborates on why  (i.e., the 4 in 485 isn’t really a 4, it’s 400).  

· Student is unable to modify George’s strategy so that it does work, but does give an alternate strategy for dividing. 


	Proficient in Performance
· Student explains that George’s strategy is a good one – he’s just not using place value correctly!  George’s work should look like this: 
400 ÷ 4 = 100
80 ÷ 4 = 20

5 ÷ 4 = 1 r 1

100 + 20 + 1 = 121

485 ÷ 4 = 121 r 1

· Student explains why this strategy works, using place value and/or properties of operations in their explanation. 

· Student gives examples of when this would and wouldn’t be a good strategy to use (i.e. this wouldn’t work as well when you need an exact answer, with a decimal.  It works well in contexts where a remainder is okay). 




	Standards for Mathematical Practice

	1.  Makes sense and perseveres in solving problems.

	2.  Reasons abstractly and quantitatively.

	3.  Constructs viable arguments and critiques the reasoning of others.

	4.  Models with mathematics.

	5.  Uses appropriate tools strategically.

	6.  Attends to precision.

	7.  Looks for and makes use of structure.

	8.  Looks for and expresses regularity in repeated reasoning.


George’s Division Strategy
George is having a hard time solving division problems, and he has asked you for his help.  Here is George’s strategy: 

485 ÷ 4 = ? 

4 ÷ 4 = 1

8 ÷ 4 = 2

5 ÷ 4 = 1 remainder 1

1 + 2 + 1 = 4

484 ÷ 4 = 4 r 1

What is George doing wrong?  
Explain how George can fix his strategy so that it works.  (Don’t teach him a new strategy!!! Help him fix this one!)  
Why does this strategy work? 

In what contexts would this be a good strategy to use?  
When would this not be a good strategy to use?  Explain your reasoning. 
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